00 QP t—7a svam
Wlftj;ﬂﬂ 5 BEXMER |ToramsA—z| BRERT |AASBTL—F|s7-turrar—5 L gﬁg gg _Efﬁ tﬁh M
1 EEWERr 3 — 0|3 — 0(3 — 0|3 — 0|3 — 0|5 *0]| 15 | 30 | 1 1
2 g=xa=ri—x| 0 — 3 3 — 0|2 — 1|12 — 1|3 — 0|4 = 1] 10 20 10 2
3 ERERT o — 3|0 — 3 2 — 1|2 — 112 — 1|13 =2 6 | 12 | 21 3
4 AR —2* 0 — 3|1 - 2|11 - 2 2 — 112 — 112 * 3 6 13 19 4
57 t¥rR— 0 — 3|1 — 2|1 — 2(1 — 2 2 — 111 * 4 5 13 20 5
6 X/ 0o — 3]0 — 3|1 — 2|1 — 2(1 — 2 0 * 5| 3 | 7 | 24 6
Tt TRA—UKF—A
2nd HEERT—IL
[ZFLyRTOvY)12ndRT—2
1R 238(2)DxE
HEERT—IL
BiE8Em 3vs0 IR S ER1T BAEKRY IL—T 2 vs 1 T AVRTRAT—D
6 1 6 2
ST A BEF 6 0 of 75k SHEE S1 iy H6B 2 6 4 0 Blg =%
6 0 4 6
s2 5 XR 6 0 0 mE B=E s2| JEZA HWPH |0 0 6 2 N &EF
e 6 3 8 — 6 7 ® =
o| KB AT . o ®mmz o ERER |, ., | Xx®EE
X+ BAF AW E&R b FE 0 - 8 Bl xE8
FZRIZ/IN—R 3vs0 v/
6 3
s1 g S 6 4 0 A MK
6 2
s2| SFE REm 6 2 0 HE 8
— 6 1 =]
o| BEgEF [, .. | @@ BT
el BE il FF
1R248(R)DO %
HEERT—IL
XIOxtEE, 15228 (£) IZHfE
Bi2SERT 3vs0 FZRIAZI/IN—R JT AT RT— 2 vs 1 *y/ v
6 1 2 6
s1 ZH BF 6 3 0 g Jex s1 Big % 0 26 2 R ALK
6 1 6 4
s2 5 XR 6 2 0 e #E s2 Xg & 2 60 0 HE &
e 6 1 - 6 1 a
o| KA @EF ca o TEREWM | | BRH&E |, ., o #BBT
X+ BAF FikE e+ Bl XEB il ¥F
R BiR1T 2 vs 1 BAEKRY IL—T
2 6
S1 Ay ER 16 2 =R EfL
7 6 @
s2| ZEEE EHE 4 6 1 iy &8
6 1
6 1 .
5 rE = 6 2 0 hi FE
bl e BeA HPH




